8% s N @® » A OO

A GD s N 20235 67 RIX @9

5 R OD 5 NG® v NPV v A

aft HEZ aff HES
Mg - WA
ce) BOHIZLD | ABEENE GDRFERLD 158 50D 28) BONILS PBEEDS KDRFERALD 1565502
TR X 70 & EA SCA T20[# R 35 [AE 10
ERacE Cehitrd 30 |BE 30 |AZ 20 Bl IhE 30 TYIIyF—
1 Thize< 10 ZIES 20 TY—ERT Uk 16 EINAE 20 | hobr—F399R
(K) TysE=2 4 @ | PVER = 40 [ERF 20 A= E5
IR DHZH PRV 20 BE 6 |AZ 10 tam oF
BE 20 EDEVLOHE E2ELE 40
A 10 "FF ~"FF 40
SRORMET 28 20 |hE 2
EXHBI 4 3, #35
FLo FLT 30
E2RI2EA IEA 120 b A% 02| EhZE 15 B x 70 |&® 40 | ERE 30
SEHBY 10 [AS 10 | xavsvBE-2 ¢ FIAalze< 10 FLLWVEG 04 BhL
2 |EEOTEH RS BE 60 AP = | 17 [EINAEDR Hh 6 [1Iz3hAF 40 Tex>T#HH
@ [FrYOHEANZ F Y 32 | wubr—%3Iv2R| (£) AE 10
M 10 5=2-8 SROEET g 16 |[ER& 8
e 10 VAT JAZ 30 £
T T T 40 45
TR X 70 TR TH 70
GRrULEDO2LR G- 30 |ERE 30 BhL foDED D) 60 ThAZ &
BE 35 A2 16 TR EINAEDMSHY BE 8 [ZINAFE 45
3 oLE 13 V7 bEARN 19 EhE 20
(1) [BEDAZY) EES 40 [9z}H) AE 10
&I 12 ERFDT XL b 02|ERE 20
A2 10 FL>y Loy 30
KEDHET hire 0.2[K# 20 43l 43
YAZ VAT 30
TR ES 70 TH K 70
BEOEZEDSH B’E 60 [EE 30 BHL WEIR S 35 [ERE 30 HhL
A 10 Foo TBY = 40 [AZ 15 HRAI7vh—
5 |FeRVOHAY FyRY 30 20 FLLWG 0.4
¢:}] EINAT 20 ) [LPLOFFEMZ BRA 6 L 40
A 10 F2>AE 10
bhBHOERT i 1 |bh# 0.4 A 10
FLod E A 49 bhHR—7 [T 0.4[2—> 3 2
/NFF NFF 40
TR ES 70 e ES 70
ThoDITEENMEE aho 60 wHsIRsny BEOHFEYH BE 40 |EhE 0| LEVYRZ74Y
EDEVLDY T X IDELD 30 (=S 10 F4., o Ag 10 | Fybhr—%3v22
§ v3%—Z 6 A= 6 Y55 21 P—2 8 FhH 15—
(093] (SBR{EH) A 6 | rro~xy—y—2z | k) Lol 6 B8 FR
ABROTELT KR 15 70y 3V—0HAH S 8§ |7ovau- 35 LRt
IhE 10 AB 10
TL—FTN—" sv-77n-7 30 ES <hO= 8 *B 3
43, Eh#E 10 #5
TL—F7N—" 7v-778—7 30
hhbh o CEE) K % _|br z ES 70
RET—A F—Xx¥ 120 |&&E 20 ABELNY E ) 35 [EhE 30 ey
(BT EER) 20 As, tam e 10 RIS, YT
0 15 L L¥L 10| =hs r7er7
k) 6 hykr-%2722 | 22 £pRY 10 F—Z
BEDYFHIZ e 40 (e EGEEE S Pl E-3] 5 AR/ 10
10 3IX-X 6 A 10
8 (5B7 )
NFF 40 EBOTELT 2% 16 [ER& 10
43 ¥ 1 *3
FLrT AL 30
ZER 70 = B 70
BEOH L —ho CeAung 20 [ 35 [ERE 30 Bl BELAROEN BE 40 [ERZE 30 BhL
A 10 | #E0Z v h— As 10 TNy Iv
g [ NARTOBHIDER X&) 8 [lE5hA®E 40 23 iR 20| V7 rEARL
(R) AE 10 (&) WAIFA 6
ERFDOTELT b 02|ERE 20 R E D HDFEDY Hhhs 0.2 |43/ 40
FLooy FLoy 30 (FINAEDETT FINAE 16
43 EhE 8 %3
NFF NFF 10
TR x 70 ERUEN e % 40 [35.Uhr 13
BBUIDZIESE BRES 25 [ERE 30 KPFE BEI X F—Xxv  120|&= 30 [ERE 20 Bl
FH 40 (A 10| &2%ud, tam (AT 1E5) AZ 10 = LN A
9 Y E—-X 4 US 2 6 Mt 4 24 Fyy 15
@& [P LMz HRL 40 () - 6
a2 15 SHERDEY EHIE 8 |AZ 10
AB 10 WAITA 6
PRFEDRET MR 1 VAT YAZ 30
EhE 10 49 43
A & X} JL—7 70— 30
FRXIETT * 70 |88 3B |ERE 20 ZIEAH * 0 |BE 35 [EhRE 20
A% 15 BhL Ag 10 BOTRY
= 6 IR a-> 6 (&%H)
10 E—vv S 26 WVAITA 6 B, na-
(&3] FYy -2 4 (B) [RED#EY Hh EESE] 35 raE x4B
Ve—RUETH CepLd 30 [94F— 6 |ERE 20 A 10
AV Y XR=T FIHAE 15 IMEDTELT MR 16
As 10 Eh#E 8
YAZ VAT 30 %3l hE 1 *9,
AL FLr 30
ZER X 70 i E3 70
Fre40-2R B3 40 [EhE 20 EHhL BER S 35 |ERE 20 BhL
A2 15 T—-RaA > 28 30 (A2 10| =Y—ERTv b
12 -2y 10 ax 20
A FRE—T¥ 6 27 |#27&3—-2D EX 30
o 1 (K btk %] 4 10
IRFEDHAY) MMAR 25 F & R DR FXRBT 4 |[FyRY 16
=E3 25 nE 1
AB 10 NFEF NFF 30
FRA—7 ERE) 04[a—> 7 #5. #4
ALy ALY 30
O— /sy a—Jsiy 40 Th % 70
(G EEA) n"EFHELT—* EhonHhEHEE Eho 60 WAZHEY —
F=7Fvv7 EES 3B |ERE 40 | worr-%3902 70930 -0V TEX T 6 [Fovav- 35 RR, Lo
13 AE 10 | #%. ram ot A 8 TyTNFa—2R
(X Lol 6 28 3= 6
vy alT b CehULd 30 ok |[BREDOTELT EE3 16
| ECEEV D) %37—X 6 7oyay— 35 AE 4
A 234534 (EFER) AB 10 nE 1
e o 6
THO=—R—7 zho= 4 FZ>NAZ b 43, TU—T I N—" Tv—77%~7 30 +3
FLrTVa—2 AL V0a-2 125
c % 70 S-FY—RANTTA |ANT T4 120|188 40 |ERE 20
BADTINVERE [?332-X 8 [BR 80 HhL (4 - ) A 10 | &2V BELNY
(BATRMER) =LA JYyE—25 | #2fut. tam
1 |VATADYFHZ F 6 |WAITA 35 29 Fe b 10 | kv bor—%3222
(7K) AL 10 R [ % v RYDGEFHMZ EXE 5 6 [Fr~Y 40 *2,
ERETFORTIT R 8 |EhE 16 AE 10
nE 1 EINARDR—T E5NAE 16
Te—F 70— Fo—77n-7 30 435, EhE 8 £
RFF YT 40
< * 70 < % 70
RABDHEY I Fi) 60 Zh=yA-I Nt BROZET IR 2332—X 6 [BE 80 BhL
15 [CAVEDED Cehud 35 [B5<h 6 [AZ 0| =—7nt. LEE (6T A3) T-R3AA ¥
x) FYyre—2 4 BDAE 30 [WAITADEIAMA 54D 5 [WAITA 32
ABRDTELH KR 15| 2baxy—y—2 | (&) A 10
ax 10 bhhHomET hhsd 0.4
FLoy FLro 30 45 1] 16 43,
Ao FLv 30
*ILBIE1 0B L ONBYET . 0 b -
*BEHOBEHOATRR, FIRECLYEBROREBMECTY, RHORIEEILDBANHETEET T RIZEL, x l ; % O w = T T
- R
KB (RBE)OHICIE, WRHERELTAYEE A, Ty s - T =




